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Answer the following problems below. 5 Y- iatercept
1)  Aprojectile is launched with an upward velocity of 50 ft/sec | 2) b4 N
and it has an initial height of 35 feet. x|[oFLi-1]2]-2]3
a) Write a function thatzmodels its height using this vi[-3h-4j0|3]5]0
0w F't‘/ format: h(E) = —166" wit-+ hy. a) Determine the minimum y-value for this quadratic
s B ROTS/XC function.
h, =35 Fe h(4) =-let T+ 50t + 38 The mrnimum Y-vatue of -4 occvrs @ x=|l.
b) ;Eiitzrtg:ién;:::ept REEHIS (UREHR AN Wi T b) Locate thofthis quadratic function.
e £
- W —mieveept o7 -3 oc =20.
Y-lntercept =35 (0135) The r= v s € =0
7-,,,;.‘;“_'” as ordered pair r's (O)-3).
3 the y-int ts of th fi i ) 4 ,
) ) Locate h{j{yﬂlr::e:clegtz _(;_ 90i5i ;l(;lct]ons ) a) Determine the equation of the line X y erf:‘:oi—:;
— 12 that contains these points. —
hy(t) = —16t% + 120t + 30 Slope zme YoV o ~z-2.-4 .2 _9 |2 <3.‘3"J
At t=0, h(4)=40 . Y-inkereept 1s(2 (0 40) S e N
= = =1, =¢ .
At £=0, halg)=30. " y-inkreest @ (030) 7 " 5 BRIk :}? f'-l '=+1»b 3]-6 [*7*
b) Which function has the greater y-intercept? J b) lngl?:t?otr?e y-intercept of this linear -9 | -10
‘ So the Y—inkeveept
t) h the . .
FUV\CHﬂ"‘V\ Iﬂ e os S, Equakim of Fhe [meor Fuadhron
Greabas N~ W lev cept of lme
O Y_"'}'x-""\ s —Y: As e
‘Y: %K -4 ’ & - 3
ordered peir s (0-4) .
5)  Whatis the y-intercept of \ Vi lnesn 6)  Locate the y-intercepts of these functions using substitution
the: = 4 [letx = 0].
a) exponential function?
] | drakhe @) y=6¥—-2 g -inter cepH
— ° - - —
b) linear function? =0 4R W w =y s —1.
) b) y=-3x+4
c) quadratic function? G ) y-inkercert is 4.
0 Y= =Kalt 4 =4
Which y-intercept is highest? ¢) y=13x2+1700x + 500 ot
. ~ ©~ . —in %
The y-\nterecept oT +he Viaeay Tvackom y= 13lo)* + 1799(0) £SO =§00 L) Yept 13
it v highest. £eo.
7)  Locate the y-intercepts of these functions using substitution B8) a) Write the equation of the line that has the below
[letx = 0]. table of values. X%
a) y=-4x>+5x2+17x+6 -~ x |-12] 2] 0] 4|8 )
- — =,
1= ) 626 T yTol+lolil1 @)
= - ’ =-J_:-i—'-".-1=:-_|. -t
b) y=-7|x|+4 Y 34y > 4 3 B ——
y=-1ol+y =4 Yotabretpt s H o oo it S 1= b0+ > =-2+b D 3<)
oy =i;+; b) Locate the y-intercept of this linear function. e - "Ji-*" 3
N : v g N Co +the Y-mbercept ececurs whin x=o.
= =72 —inber e is 1
Y o+S < N = ¢ & Ce Y_:_.\ix+'5=-Ji(¢3+3=3_ ?:3
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